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PROBLEM SET: Limiting Reactants

1} Use the following chemical equation: -:2 H2 + (0 7} e 4 92 H.0 —
"/A) Balance the equation. e —— / r
B) identify the limiting reactant wheql 1 32 g of O2 reacts with 1. 05? gofHzto produce water. J_,f ‘F:x
ladddg Oay et ("}2; e Ha:,u?x i5.0q l 23T H}O T
720y Vit Og "“‘"\’H o L

1,065 Hen LTH émﬂ A%y
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D) What mass of the excess reagent will be left over / unused?
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2) Use the following chemical equation: I re + _LS > _L FeS

A) Balance the equation.
B) Identn‘y the limmng rgactant when 4 68 g of Fe reacts with 2.88 g of S to p@gggaﬁes
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<) What m@ﬁf wonﬁ[) suiflcle éeS wsl‘ be forrr}ed in the reaction?
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D) What mass of the excess reagent will be left over / unused? . .
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% /‘3 3) Use the following chemical equation: Mg(OH). + 5 HCI [ MgCl.
’Z';y \ A) Balance the equation. " y
e - B) identify the limiting reactant when 5.87 g 1 of Mg(OHb reacts with 12 84 g of HQI to form MgCl..
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C) What mass of magnesium chioride, MgClz, will be formed in the reaction?
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D) What mass of the excess reagent will be left overi um[sed'? g (_'? 5o g _7 5;};}”@
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Source: Chemistry: Connechons to Our Changmg World (Prentice-Hall) Ch 11"Chem Eq'ns” supplemen’r pp. 19-20
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4) Use the following chemical equation: o<_ S0, + 0 > ;& S0,
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A) Balance the equaticn.
" B) Identify the limiting reactant when 12.4 g of S0z reacts W|th 3.45 g of O2.
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D) What mass of the excess reagent will be Ieft over / unused?
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5) Use the following chemical equation: [ H0 + I SO, > [ H,SO0, \\ Ww,} ;
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v - A) Balance the equation.

e cﬁ - B) identify the limiting rgactant when 6.58 03 reacts wi of ﬁzﬁ}”
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C}What mass o sulﬂ"mc amd Ezgm will ge%rmed in the reaction?
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D} What mass of the excess reagent will be left ever / unused?
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6} Use the following chemical aquation: ‘ Cd + ! S >

<= ,e __A) Balance the eguation.
\% B) Identify thailmlting reactant when 8.47 g of Cd reacts with 2.56+-gof S. -
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D) What mass of the excess reagent will be left over f unused?
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Source: Chemigtry: Connections to Our Changing World (Prentice-Hall) Ch 11 "Chem Eq'ns” supplement pp. 19-20



